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f is not differentiable at x = I

f- has a corner at X = I
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The function b is not differentiable at X =/

(DISCONTINUOUS AT X = I )

C) If we first prove bcx) is not continuous at X - I, then
we simply need to state that f Cx) is not differentiable
at X = a by the THM we proved in class .



④ m
'
c l) = hlif.me) = ?h

m
'

+ a )
= lim mcHhY = hi;g+t-Ch→ot h

him
.

' 'F
⇐ t i )

= / im I t h - I

h→ot¥)
= Lift ¥+1 = I

m
'

- a ) = dingo .meth ) = thing. '¥tI-[#
h

= Iim Iz th t I - I
↳o
-

a-
= thing.F-

= lim ¥ = I
↳o
-

.

.

.
Iim m ( ith ) - ma) I

↳oT = z
m
'

4) = I

m is differentiable at X = I

m is smooth at X = I
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